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{va 2N K4 7% b| A > |GROSS|HDCP | NET |crossis: e
1 KE #UE 42 44| 86[17.0 [69.0 | 3
2 AR K 40 40/ 80[10.0 [70.0 | 1
3 Rk FE— 43 43| 86(14.0 [72.0 | 3
VN ) 41 51| 92(20.0 [72.0 | 12
5 |Afn BEA 41 46| 87[14.0 |73.0 | 5
6 |E)Il HH— 42 46| 88]15.0 [73.0 | 6
T HhHE HE 41 47| 88[14.0 |74.0 | 6
8 |*FH I 44 47| 91]16.0 |75.0 | 10
9 |AKH W 52 40| 92|16.0 |76.0 | 12
10 2 B 44 48| 92[16.0 [76.0 | 12
11 |—i ek 39 44| 83| 6.0 |77.0 | 2
12 |5%H % 52 53| 105(28.0 |77.0 | 24
13 |HA fE— 49 46| 95[17.0 [78.0 | 17
14 |WpA & 43 52|  95(17.0 |78.0 | 17
15 [RH &F 53 56/ 109/30.0 [79.0 | 25
16 |WER 55 42| 97/17.0 80.0 | 19
17 | HF B 45 46/ 91[11.0 [80.0 | 10
18 |l F5hE 45 48| 93/13.0 [80.0 | 15
19 [ == 53 49| 102]22.0 [80.0 | 22
20 |EE fiET 48 49| 97[17.0 [80.0 | 19
21 |FRH Bt 60 51| 111/31.0 (80.0 | 26
22 | Rk EAT 44 45/ 89| 8.0 [81.0 | 9
23|Il B 42 46| 88| 7.0 [81.0 | 6
24 MR BA 45 48| 93]12.0 [81.0 | 15
25 |JHR BN 48 49| 97/14.0 [83.0 | 19
26 |MiH [EF 56 55| 111[28.0 [83.0 | 26
27 | LjE EHF 51 60| 111]27.0 [84.0 | 26
28 |[fElg Lo 62 56| 118(32.0 [86.0 | 30
29 |H F2iE 51 53| 104/17.0 |87.0 | 23
30 |WEIRE A 62 65| 127/34.0 |93.0 | 31
31 bW ZFEF 52 60| 112/10.0 [102.0 | 29
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